


Kind Rigging-railing Co.,Ltd

. Top end cap
Code A B C D
01HMOOA-3/4 19 58 6.5 7
B § 01HMO0A-7/8 | 222 | 58 | 6.8 7
e 4 01HMOOA-1 | 254 | 58 | 68 7
’ ; 01HMOO0A-1-1/4| 31.75 | 65 8 9
Special top slide
Code A B C D
01HMOOB-7/8 | 22.2 37 75 M16
01HMOOB-1 25.4 37 75 M16
Ring hinge
Code A B C D
01HMO0O0C-3/4 19 58 6.5 7
01HMO0C-7/8 | 22.2 58 6.8 7
01HMO00C-1 25.4 60 6.8 7
01HMO00C-1-1/4| 31.75 | 65 8 9
End slide
Code A B C D E
02HTOO0A-3/4 19 225 44 M6 6.5
02HTO0A-7/8 22.2 51 28 M6 8
02HTO0A-1 25.4 54 28.5 M6 8
02HTO0A-1-1/4| 31.75 | 66 26.5 M6 8
Hinge slide mounted
Code A B C D
03SZ00A-3/4 50.8 | 19.05 | 16.5 M5
03SZ00A-7/8 50.8 | 22.22 | 165 M5
http://www .kindrigging-railing.com E-mail: sales@kindrigging-railing.com 1

Tel: 86-571-82833571 Fax: 86-571-82873444



Kind Rigging-railing Co.,Ltd

Deck hinge angle base A

& ‘L|_ |
, J Code A B C D

m 03Sz00B-7/8 | 57.15 | 22.2 | 385 | 6*40
B 03SZ00B-1 5715 | 25.4 | 385 | 6*40

A f——

L .

T Deck hinge

= |-

@ [ | Code A B C D
< . 03SZ00C18 62 18 37 M5
'“\ Q &

: [
A )
(@ i \\ Door hinge C
= @@ Code A B C
@/] 04HYOO0A56 56 38 45
= 04HY00A75 75 38 4.5
vws Chmuranysun
b 0B g Butt hinge B
I'1
@l ® Code A B C
a H 04HYO0OB38 38.1 | 38.1 4.5
P s 04HY00B50 50.8 | 50.8 45
L j 04HYO00B52 52 52 45
kv o i = 04HY00B60 60 60 45
| A .
5 Door hinge A
@ L @@ . Code A B C
i @’) 04HY00C76 | 762 | 381 | 45
11
&Y
[
http://www.kindrigging-railing.com E-mail: sales@kindrigging-railing.com 2

Tel: 86-571-82833571 Fax: 86-571-82873444




Kind Rigging-railing Co.,Ltd

Door hinge A
Code A B C
04HYO0D100 100 25 4.5
04HYO0D146 146 23 4.5

60 degree center stanchion

Code A B C
O5GZCO0A-7/8 | 22.22 41 32.5
05GZCO00A-1 25.4 41 40.5

60 degree end stanchion

Code A B C
05GZC00B-7/8 | 22.2 41 325
05GZC00B-1 25.4 41 40.5
60 degree stanchion

Code A B C
05GZC00C-7/8 | 22.2 37 52.6
end stanchion 60

Code A B C
05GZCO00D-7/8 | 22.22 35 65
05GZCO00D-1 25.4 34 55.88

http://www .kindrigging-railing.com E-mail: sales@kindrigging-railing.com

Tel: 86-571-82833571 Fax: 86-571-82873444




Kind Rigging-railing Co.,Ltd

Base
Code A B C D
06GZ00A-60 54 33 60° 70
06GZ00A-90 52 33 90° 80
06GZ00A-75 58 33 75° 60
Straight round rail base
Code A B C
06YGZ00B-7/8 22.2 66.7 45
06YGZ00B-1 25.4 69.7 42
06YGZ00B-7/10 30 74 44
06YGZ00B-7/11 40 84 42.5
Slanting round rail base
Code A B C D
06YGZ30C-7/8 | 22.2 66.7 30° 37
06YGZ45C-7/8 | 22.2 66.7 45° 47
06YGZ60C-7/8 | 22.2 66.7 60° 39
06YGZ30C-1 25.4 73 30° 36
06YGZ45C-1 25.4 73 45° 37
06YGZ60C-1 25.4 69.9 60° 46
Welded round base
Code A B C D
06YGZ45D-7/8 | 22.2 66 45° 10
06YGZ60D-7/8 | 22.2 79 60° 10
06YGZ90D-7/8 | 22.2 66 90° 10
06YGZ45D-1 25.4 79 45° 12
06YGZ60D-1 25.4 79 60° 12
06YGZ90D-1 25.4 79 90° 12

http://www .kindrigging-railing.com E-mail: sales@kindrigging-railing.com

Tel: 86-571-82833571 Fax: 86-571-82873444




Kind Rigging-railing Co.,Ltd

Slanting rectangular rail base

Code A B C D
06FGZ60E-7/8 | 77 435 | 60° | 22.2
06FGZ60E-1 82 47 60° | 254
=
/V/\‘ﬁ
’ i
=2 i il |
ﬁ - -
® 5 Straight rectangular rail base
© = Code A B C D
© © 06FGZz90oF-7/8 | 77 | 435 | 46 | 222
i 06FGZ90F-1 82 47 44 25.4
— 06FGZ90F-1-1/4| 82 53 44 | 31.75
i
B .
Four way rail
E“’ ﬂi Code A B
= = —— 07GJO4A-7/8 | 22.2 62
s 07GJ04A-1 25.4 84
SN
1 g a1
Three rail
Code A B C
07GJ03B-7/8 22.2 52 52
07GJ03B-1 25.4 55 55
07GJO3B-1-1/4 | 31.75 | 76 83
http://www.kindrigging-railing.com E-mail: sales@kindrigging-railing.com 5

Tel: 86-571-82833571 Fax: 86-571-82873444




Kind Rigging-railing Co.,Ltd

Tee rall
Code A B C D
07GJ03C-7/8 22.2 48 60° 57
07GJ03C-1 25.4 53 60° 60
Rail coner 3 way
Code A B
07GJ03D-7/8 22.2 40
07GJ03D-1 25.4 50
Elbow 90 degree
Code A B
07GJ02E-7/8 22.2 50
07GJ02E-1 25.4 51
07GJ02E-1-1/4| 31.75 58.5
Rail fittings
Code A B C
07GJ02F11-7/8| 22.2 59 110
07GJ02F12-7/8| 22.2 59 120
07GJ02F14-7/8| 22.2 59 140
07GJ02F12-1 25.4 59 120
07GJ02F14-1 25.4 59 140
Bottom mount
Code A B C
08ZZ00A-3/4 175 19.05 | 22.25
08ZZ00A-1 175 22.22 25.4
http://www .kindrigging-railing.com E-mail: sales@kindrigging-railing.com

Tel: 86-571-82833571 Fax: 86-571-82873444




Kind Rigging-railing Co.,Ltd

Bullet end plug

Code A B C
08ZZ00A-3/4 175 19.05 | 22.25
08ZZ00A-1 175 22.22 25.4

Eccebtric latch A

Code A B C
09JLX00A20 20 49 4
Deck filler F
Code A B C D
10FSKO00A35 35 24 30 M24

Deck filler with key

Code A B C
11ZSKO00A38 75 38.1 83
11ZSKO0A50 87 50.8 86

http://www.kindrigging-railing.com E-mail: sales@kindrigging-railing.com 7
Tel: 86-571-82833571 Fax: 86-571-82873444



Kind Rigging-railing Co.,Ltd

Deck filler D
Code A B C D
11ZYKO0B59 88 59.5 6 97
11ZYKO1B45 | 825 | 455 | 55 94
C
B Through hull C
T|“—‘|_._f Code A B C D E
T Jr T R 12TQKO0A-3/8 3/8
i 12TQKO0A-1/2 | 112
| i;| i |;i |H 12TQKO00A-3/4 3/4 73 49 19 62
N 12TQKO0A-1 1 80 54 25 71
i | 4 12TQKO0A-1-1/4| 1-1/4 | 83 63 34 76
H i H 12TQKO0A-1-1/2| 1-1/2 | 85 70 38 79
S 12TQKO0A-2 2 101 84 50.8 95
12TQKO00A-3 3 127 | 117 76 120
| A | e
Flush lift ring A
| Code A B C
(a1
13DBK00A48 48 38 3
|'I.i.' ".i.”
[
. . .
— Flush lift ring B
i )
Code A B C
= 13DBK00B63 63 45 3.2
| '
B K|
[
http://www.kindrigging-railing.com E-mail: sales@kindrigging-railing.com 8

Tel: 86-571-82833571 Fax: 86-571-82873444




Kind Rigging-railing Co.,Ltd

Flush lift ring C

Code A B C
13CGJLO0C76 76 57.5 3
Rod holder A
Code A B C D
14TXZ00A96 96 64 100 1-1/4
Quick release A
Code A B C D
14ZDJLO0A70 70 26 53 5
Quick release
Code A B C D E
14KSJLO0A82 82 32 30 5 8
http://www.kindrigging-railing.com E-mail: sales@kindrigging-railing.com 9

Tel: 86-571-82833571 Fax: 86-571-82873444




Kind Rigging-railing Co.,Ltd

Anchor chain

T ) ( = Code A B C D

| - 15DMLJO0A90 | 90 29 M10 | M10
E o 15DMLJO0A115| 115 | 34.8 | M12 | M12

, 5 ~ Swivel anchor chain
| ]

: ' ) Q x Code A B [ D E
| | 15ZMLJ02B92 | 92 24 29 M9 M7
el J = [15ZMLI02B120| 120 22 28 M10 | M10

15ZMLJ02B169 [ 169 30 37 M10 | M10
| : | Double swivel anchor chain

LI :'C__' Code A B C D E

- v | 15zMLJ03C120| 120 22 28 M7 M9
15ZMLJO3C169| 169 30 37 M10 | M10
A
—
@@ Tank-vent
i [ Code A B C D E
HiEH 16TQKO0A62 | 86 | 62 | 24 | 28 | Mm18
VIl I/
=T
o
C)
q
| &
I . .
T Cockpit drain
N )
R Code A B C D
B 17SL00A58 | 82 | 58 | 37 | 60
L]
| |
B
http://www.kindrigging-railing.com E-mail: sales@kindrigging-railing.com 10

Tel: 86-571-82833571 Fax: 86-571-82873444




http://www .kindrigging-railing.com

Kind Rigging-railing Co.,Ltd

) I=

B

I

= P

Tel: 86-571-82833571 Fax: 86-571-82873444

E-mail: sales@kindrigging-railing.com

Straight chocks
Code A B C
18DLZ00A121 121 23.81 27
18DLZ00A152 152.4 22.2 32
18DLZ00A203 | 203.2 12.7 38
18DLZ00A254 254 44 .45 40
Skene chocks A
Code A B C D
18DLZ00B112 112.5 225 96.25 24 .5
18DLZ00B114 114.3 19 85 30
18DLZ00B147 147.6 27 102 38
18DLZ00B150 150 34.25 122 295
Skene chocks B
Code A B C D
18DLZ00C112 112.5 225 96.25 24 .5
18DLZ00C114 114.3 19 85 30
18DLZ00C147 147.6 27 102 38
18DLZ00C150 150 34.25 122 295
Surfbollard cleat
Code A B C D
19BSS00A100 100 14 14 11
19BSS00A125 125 15 18 14
19BSS00A150 150 20 20 16
19BSS00A200 200 23 24 16
19BSS00A250 250 25 30 21
Mast cleat
Code A B
19YJSS00A151| 151.5 26




Kind Rigging-railing Co.,Ltd

Pull ring
Code A B C D
19YJSS00B50 | 148 50 25 67.5
Push cleat
Code A B C D
20CLSS00A125| 125 31 61.5 | M6*40
20CLSS00A160| 160 35 70  [M10*48
20CLSS00A210| 210 45 96 [M10*66
N | 20CLSS00A260 | 260 57 121 |M12*80
| I 20CLSS00A310( 310 69 125 |[M12*80
K
; Low silhouette cleat
Py Code A B C D E
e clp ol w| | 20CLSS00B124 | 124.3 | 46 252 | 412 | 295
ﬂﬁ‘___ﬂ | | 20CLSS00B148| 148 56 28.7 | 402 | 395
m/ = |20cLssooB198| 1984 | 62 | 31.2 | 49.3 | 438
[ |20cLssooB254| 254 | 63.7 40 576 | 44.8
A Long cleat
-
a ®m Code A B C D E
— s ™ — “JI 20CLSS00C124| 1243 | 46 252 | 412 | 295
S X 20CLSS00C148| 148 56 28.7 | 402 | 395
= W 20CLSS00C198| 198.4 | 62 31.2 | 49.3 | 438
F | 20CLSS00C254| 254 | 63.7 40 57.6 | 44.8
3 Cleat
¥
Code A B C D E
] AR "4 Lol
ﬁ- ;;L 20CLSS00D124| 124.3 | 46 252 | 412 | 295
() W 20CLSS00D148| 148 56 28.7 | 402 | 395
| |2o0cLssooD198| 198.4 | 62 312 | 493 | 438
20CLSS00D254| 254 | 63.7 40 576 | 44.8
http://www.kindrigging-railing.com E-mail: sales@kindrigging-railing.com 12

Tel: 86-571-82833571 Fax: 86-571-82873444




Kind Rigging-railing Co.,Ltd

Cleat
Code A B C D
20CLSSO0E240| 240 28 41 55
20CLSSO0E300| 300 31 54 55
Hollow base cleat
A Code A B C D E
3 20CLSSO0F101| 101.6 | 36.4 | 25.4 | 483 | 223
ﬁ L r__—@:_ —— | |20CLSSO0F127| 127 | 39 | 27.4 | 538 | 253
] _ L [20cLss00F152 | 152.4 | 462 | 31 56.9 | 26.1
':—g—— —Q——:'u 20CLSS00F203| 2032 | 536 | 413 | 755 | 285
20CLSSO0F254 | 254 65 50 95.1 | 44
20CLSS00F304 | 304.8 | 70.3 | 52.5 | 98.7 | 487
| A o Cleat
; |
L__ ! { —— m Code A B C
#? i _ | |20CLSS00G150] 150 44 15
III | | I'I O 20CLSS00G200| 200 57 20
- |20cLss00G250| 250 75 26
= =N Horn bollard
i3S =
L —=— Code A B C
{"f / }f 20XCZO00A152 | 152 60 62
XY AL 20XCZ00A203 | 203 | 70 | 77
| A | 20XCZ00A255 | 255 80 91
20XCZ00A310 | 310 90 109
E 3
- Bollard
Dy ° Code A B C D E
21XCZ122 122 97 122 | 605 | 151
. 21XCZ350 350 | 350 | 270 | 120 | 280
[ Gﬁﬂ
[ N L] 3=
OUD
http://www.kindrigging-railing.com E-mail: sales@kindrigging-railing.com 13

Tel: 86-571-82833571 Fax: 86-571-82873444




	封面.pdf
	船用五金

